7.4 Parallel and Perpendicular Lines

Math 10 Parallel and Perpendicular Lines

The following sets of lines are parallel. What do they have in common?
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Thc\/ have the same slope.
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The slope of these hines is 5. The slope of these lines is -2 .

Parallel |ines have the same Slope..

Each graph shows a pair of perpendicular lines. How do their slopes compare?
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Slope A = % slope C = -é
slope B=-2 slopeD=%—=z

The slopes of Perpendicular lines are negative reciprocals.



The slopes of parallel lines are the same. The slopes of perpendicular lines are negative reciprocals.
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State whether each pair of lines is parallel, perpendicular, or neither.

a) y=3x—6 b) y=4x+3 c)y=2x+6
y=—§x+4 y=4x-5 6x+3y+3=0
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Write the equation of a line that is parallel to 2x — y + 4 = 0 and passes through the point (1, —6). Express the
equation in slope-intercept form. Then write the equation in general form.

@ Determine the slope. @ Wrife equation in @Move all terms to

vl = slope-paint form one side.
2x-y t4=0 §|-mP: the y-intercept -2x-8
b b 2x-4 IS not known. ?_)
() ( -y =TEX7H) y+6=2(x-1) 0=2x-y-8
y = 2x ty4 y16 ‘-‘2)&'2&. /
-6 - _
= slope is 2 y =2x-2-6 Zx-y-8=0
y=2x-8

Write the equation of a line that is perpendicular to 3x + 2y — 6 = 0 with an x-intercept of 9. Express the
equation in slope-intercept form and in general form.
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2y ="3x%6 y-o=3(x%) 3y = 2x -I8

b 2-';1*3 y:%x—@ d d

. -2%X +3y +1&=0) (-
= slope of Perpendlr.ular ( Y )
line is § 2x-3y-18:0

Assignment: p.156 #1, 2, 3bc, 4ab, 5, 6ac, 7,9, 12



